

ON TERNARY QUADRATIC DIOPHANTINE EQUATION

$$w^2 - 2z^2 + 2wx + 20zx = 51x^2$$

S.Vidhyalakshmi¹, M.A.Gopalan²

¹Assistant Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India.

²Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India.

ABSTRACT:

The cone represented by the ternary quadratic Diophantine equation $w^2 - 2z^2 + 2wx + 20zx = 51x^2$ is analyzed for its patterns of non-zero distinct integral solutions.

KEYWORDS: Ternary quadratic, Homogeneous quadratic, Integral solutions

INTRODUCTION:

The Diophantine equation offers an unlimited field for research due to their variety [1-3]. In particular, one may refer [4-15] for quadratic equations with three unknowns. This communication concerns with yet another interesting equation $w^2 - 2z^2 + 2wx + 20zx = 51x^2$ representing homogeneous quadratic with three unknowns for determining its infinitely many non-zero integral points.

METHOD OF ANALYSIS:

The given ternary quadratic diophantine equation is

$$w^2 - 2z^2 + 2wx + 20zx = 51x^2 \quad (1)$$

On completing the squares, (1) is written as

$$P^2 - 2Q^2 = 2x^2 \quad (2)$$

where

$$P = w + x, Q = z - 5x \quad (3)$$

Let us see the different patterns of solving the above equation (3) and thus,

obtain the different choices of x , w and z satisfying (1).

Choice I:

Let us assume

$$x = a^2 - 2b^2 \quad (4)$$

We can write 2 as

$$2 = (2 + \sqrt{2})(2 - \sqrt{2}) \quad (5)$$

Using (4) and (5) in (2) and employing the method of factorization ,consider

$$P + \sqrt{2}Q = (2 + \sqrt{2})(a + \sqrt{2}b)^2 \quad (6)$$

Equating the rational and irrational parts,the values of P and Q are obtained.

In view of (3),one has

$$w = a^2 + 6b^2 + 4ab, z = 6a^2 - 8b^2 + 4ab \quad (7)$$

Thus,(4) and (7) represent the integer solutions to (1).

Note 1:

In addition to (5),one may have

$$2 = (10 + 7\sqrt{2})(10 - 7\sqrt{2}),$$
$$2 = \frac{(10 + \sqrt{2})(10 - \sqrt{2})}{49}$$

Following the above procedure ,we have two more integer solutions to (1).

Choice II:

Write (2) as

$$P^2 - 2Q^2 = 2x^2 * 1 \quad (8)$$

Take 1 on the R.H.S. of (8) as

$$1 = (3 + 2\sqrt{2})(3 - 2\sqrt{2}) \quad (9)$$

Using (4),(5) & (9) in (8) and employing the method of factorization ,consider

$$P + \sqrt{2}Q = (10 + 7\sqrt{2})(a + \sqrt{2}b)^2 \tag{10}$$

Equating the rational and irrational parts,the values of P and Q are obtained.

In view of (3), one has

$$w = 9a^2 + 22b^2 + 28ab, z = 12a^2 + 4b^2 + 20ab \tag{11}$$

Thus,(4) and (11) represent the integer solutions to (1).

Note 2:

The integer 1 on the R.H.S. of (8) is also taken as

$$1 = \frac{(2r^2 + s^2 + \sqrt{2}2rs)(2r^2 + s^2 - \sqrt{2}2rs)}{(2r^2 - s^2)^2},$$

$$1 = \frac{(11 + 6\sqrt{2})(11 - 6\sqrt{2})}{49},$$

$$1 = (17 + 12\sqrt{2})(17 - 12\sqrt{2})$$

Following the above procedure ,three different solutions to (1) are obtained.

Choice III:

In (2) , the substitution

$$Q = u + v, x = u - v \tag{12}$$

leads to

$$P^2 = 4u^2 + 4v^2$$

which is satisfied by

$$u = 4rs, v = 2(r^2 - s^2), P = 4(r^2 + s^2), r \geq s \geq 0$$

In view of (12) and (3) ,the corresponding integer solutions to (1) are given by

$$\begin{aligned}x &= 4rs - 2r^2 + 2s^2, \\w &= -4rs + 6r^2 + 2s^2, \\z &= 24rs - 8r^2 + 8s^2\end{aligned}$$

Choice IV:

In (2) , the substitution

$$Q = u + v, x = u - v, P = 2R \quad (13)$$

leads to

$$R^2 = u^2 + v^2$$

which is satisfied by

$$u = 2rs, v = (r^2 - s^2), P = (r^2 + s^2), r \geq s \geq 0$$

In view of (13) and (3) ,the corresponding integer solutions to (1) are given by

$$\begin{aligned}x &= 2rs - r^2 + s^2, \\w &= -2rs + 3r^2 + s^2, \\z &= 12rs - 4r^2 + 4s^2\end{aligned}$$

CONCLUSION

In this paper, we have made an attempt to obtain all integer solutions to (1). To conclude, one may search for integer solutions to other choices of ternary quadratic diophantine equations.

REFERENCES

- [1].L.E. Dickson, History of Theory of Numbers, vol 2, Chelsea publishing company, New York, (1952).
- [2].L.J. Mordell, Diophantine Equations, Academic press, London, (1969).
- [3].R.D. Carmichael, The theory of numbers and Diophantine analysis, New York, Dover, (1959).
- [4].N. Bharathi, S. Vidhyalakshmi, Observation on the Non-Homogeneous Ternary Quadratic Equation $x^2 - xy + y^2 + 2(x + y) + 4 = 12z^2$, Journal of mathematics and informatics, vol.10, 2017, 135-140.
- [5].A. Priya, S. Vidhyalakshmi, On the Non-Homogeneous Ternary Quadratic Equation $2(x^2 + y^2) - 3xy + (x + y) + 1 = Z^2$, Journal of mathematics and informatics, vol.10, 2017, 49-55.

- [6].M.A. Gopalan, S. Vidhyalakshmi and U.K. Rajalakshmi, On ternary quadratic Diophantine equation $5(X^2 + Y^2) - 6XY = 196Z^2$, Journal of mathematics, 3(5) (2017) 1-10.
- [7].M.A.Gopalan and R.Kalaivani , On ternary quadratic Diophantine equation $6(X^2 + Y^2) - 11XY = 32Z^2$, Journal of mathematics, vol.10, (2017), 167-171.
- [8].S.Mallika, D.Hema, “On The Ternary Quadratic Diophantine Equation $5y^2 = 3x^2 + 2z^2$ ”, Journal of Mathematics And Informatics, vol 10, Dec 2017, 157-165.
- [9].S.Vidhyalakshmi,S.Yogeshwari, “ On The Non-Homogeneous Ternary Quadratic Diophantine Equation $11x^2 - 2y^2 = 9z^2$ ”, Journal Of Mathematics And Informatics, vol 10, Dec 2017, 125-133.
- [10].M.A. Gopalan, S. Vidhyalakshmi and S. Aarthi Thangam, On ternary quadratic equation $X(X + Y) = Z + 20$ IJRSET,6(8) (2017) 15739-15741.
- [11]. K.Meena,S.Vidhyalakshmi,M.A.Gopalan,On The Ternary Quadratic Diophantine Equation $x^2 + 3y^2 = 13z^2$,IJRES,9(6),74-78,2021
- [12].S.Vidhyalakshmi et al,On Finding Integer Solutions To The Ternary Quadratic Diophantine Equation $2(x^2 + y^2) - 3xy = 43z^2$,IJCAR,Vol 10,No 11 ,25561-25564,2021
- [13].S.Vidhyalakshmi and M.A.Gopalan,On Second Degree Equation With Three Unknowns $2(x^2 + y^2) - 3xy = 32z^2$,IJRPR,Vol 3,No 6 ,1076-1079,2022
- [14].S.Vidhyalakshmi and M.A.Gopalan,Integral Solutions Of Ternary Quadratic Diophantine Equation $3(x^2 + y^2) - 5xy = 20z^2$,IJAREM,Vol 8,No 6 ,1-5,2022
- [15]. S.Vidhyalakshmi and M.A.Gopalan, On Second Degree Equation With Three Unknowns $2(x^2 + y^2) - 3xy = 53z^2$,IRJMETS,Vol 4,No 6 ,1810-1813,2022